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	2018/September Braindump2go 300-209 Exam Dumps with PDF and VCE New Updated Today! Following are some new 300-209

Real Exam Questions:1.|2018 Latest 300-209 Exam Dumps (PDF & VCE) 384Q&As

Download:https://www.braindump2go.com/300-209.html2.|2018 Latest 300-209 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNRkY3M21SbTdTNDg?usp=sharingQUESTION 360Refer to the

Exhibit. Which statement is accurate based on this configuration? 

 ]A.    Spoke 1 fails the authentication because the authentication methods are incorrect.B.    Spoke 2 passes the authentication to the

hub and successfully proceeds to phase 2.C.    Spoke 1 passes the authentication to the hub and successfully proceeds to phase 2.D.   

Spoke 2 fails the authentication because the remote authentication method is incorrect.Answer: CQUESTION 361A customer

requests a VPN solution to support multicast traffic and connectivity with non-Cisco devices. What VPN solution would meet the

customer requirements?A.    GET VPNB.    EZ VPNC.    Flex VPND.    L2L VPNAnswer: CQUESTION 362Refer to the Exhibit.

Which description of the status of this VPN tunnel is true? 

 ]A.    The pre shared key in phase 1 is mismatched between tunnel endpointsB.    The phase 1 is complete, phase 2 status is

unknownC.    The integrity algorithm does not match between the two endpoints.D.    The tunnel is up and waiting for traffic to flow

across itAnswer: AQUESTION 363Which two option, are benefits of AES compared to 3DES? (Choose two.)A.    switches

encryption keys every 32 GB of data transferB.    faster encryptionC.    shorter encryption keysD.    longer encryption block lengthE.

   repeating encryption keysAnswer: BDQUESTION 364A client has asked an engineer to assist in installing and upgrading to the

latest version of Cisco Any Connect Secure and upgrading to the latest version of Cisco Any Connect Secure Mobility Client. Which

type of deployment method requires the updated version of the client to be loaded only on the headend device such as an ASA or

ISE device?A.    Web-deployB.    Cloud-deployC.    Cloud-updateD.    Web-updateAnswer: AQUESTION 365A customer requires

site-to-site VPNs to connect to third party business partners and has purchased two ASAs. The customer requests an active/active

configuration. Winch mode is needed to support and active/active solution?A.    single contextB.    NAT contextC.    PAT contextD. 

  multiple contextAnswer: DQUESTION 366An engineer is troubleshooting VPN connectivity issues between a PC and ASA using

Cisco AnyConnect IPsec IKEv2. Which requirement must be satisfied for proper functioning?A.    PC certificate must contain the

server-auth EKU.B.    The connection must use EAP-AnyConnect.C.    The SAN must be used as the CN for the ASA-side

certificates.D.    profile and binary updates must be downloading over IPSecAnswer: AQUESTION 367An engineer is configuring

an IP VPN with IKEv2. Which two components are part of the IKEv2 proposal for this implementation? (Choose two.)A.    Key ring

B.    EncryptionC.    Tunnel modeD.    Peer nameE.    integrityAnswer: BEQUESTION 368An engineer is using DMVPN to

provide secure connectivity between a data center and remote sites. Which two routing protocols are recommended for use between
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the routers? (Choose two.)A.    EIGRPB.    IS-ISC.    RIPv2D.    BGPE.    OSPFAnswer: AEQUESTION 369Drag and Drop

QuestionDrag and drop the debug messages on the left onto the associated function during trouble shooting on the right.---Exhibit is

missing----Answer:    

 QUESTION 370In a FlexVPN deployment, the spokes are successfully connecting to the hub. However, spoke-to- spoke tunnels do

not form. Which trouble shooting step is valid for this issue?A.    Verify the spoke configuration to check if the NHRP redirect is

enabled.B.    Verify the hub configuration to check if the NHRP shortcut is enabled.C.    Verify the tunnel interface is contained

within a VRF.D.    Verify the spoke receives redirect messages and send resolution requestsAnswer: B!!!RECOMMEND!!!1.|2018

Latest 300-209 Exam Dumps (PDF & VCE) 384Q&As Download:https://www.braindump2go.com/300-209.html2.|2018 Latest

300-209 Study Guide Video: YouTube Video: YouTube.com/watch?v=IHRU47HQXac
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